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color = backg.
z = infinity
stencil = 1

1. Render primary world 2. Clear Seam

masked out

3. Render secondary world

4. Seal SEAM 5. Continue render primary world

z = depth
of SEAM polygon
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Color plate 1: Going through a billboard into another world

Color plate 2: A SEAM as a mirror

Color plate 4 :SEAMS to access 3D augmented reality

Color plate 6 : Multi-user VRML browser with SEAMS

Color plate 3: Infinite worlds with recursive SEAMS

Color plate 5: A SEAM as a 3D magic lens for X-raying

Color plate 7: 3D magic boxes for visualizazion focusing


